
Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-1

Table of Contents
C. Valve Adapter ...........................................................................................................................C-2
Valve Adapters with Double Solenoid, Valve Signal Pass Through, and Pressure Switch....C-2
1.	 Product Overview...................................................................................................................C-2
2.	 Installation..............................................................................................................................C-4

2.1	 Valve Adapter Installation for QC-113, QC-210, QC-213, GL6L, GL7L................................... C-4

2.2	 Valve Adapter Removal for QC-113, QC-210, QC-213, GL6L, GL7L0..................................... C-5

2.3	 Valve Adapter Installation for QC-310, QC-313, QC-510, QC-1210........................................ C-6

2.4	 Valve Adapter Removal for QC-310, QC-313, QC-510, QC-1210............................................ C-7

2.5	 Tool Adapter Assembly Installation.......................................................................................... C-7

2.6	 Tool Adapter Assembly Removal.............................................................................................. C-8

2.7	 Pneumatic Connections............................................................................................................ C-8

2.8	 Electrical Connections............................................................................................................... C-8

3.	 Operation................................................................................................................................C-9
4.	 Maintenance............................................................................................................................C-9
5.	 Troubleshooting and Service Procedures.........................................................................C-10

5.1	 Troubleshooting....................................................................................................................... C-10
5.1.1	 Solenoid Valve Manual Override Procedure..................................................................C-11

5.2	 Service Procedures.................................................................................................................. C-12
5.2.1	 Exhaust Muffler Replacement....................................................................................... C-12

5.2.2	 Pressure Switch Replacement...................................................................................... C-13

6.	 Serviceable Parts.................................................................................................................C-14
6.1	 Tool Adapter Assembly Serviceable Parts............................................................................. C-14

7.	 Specifications.......................................................................................................................C-15
8.	 Drawings...............................................................................................................................C-16

8.1	 Valve Adapters for QC-210 Tool Changers ........................................................................... C-16

8.2	 Valve Adapters for QC-310 Tool Changers............................................................................ C-19

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-2

C. Valve Adapter 

Valve Adapters with Double Solenoid, Valve Signal Pass 
Through, and Pressure Switch
1.	 Product Overview

Valve adapters are required to provide an air supply to the compatible Tool Changer or Utility Coupler Master for 
actuation of the locking mechanism. Valve adapters come outfitted with an integrated double solenoid valve and 
mount to Flat ‘A’ of the Tool Changer or Utility coupler Master. Control of the integrated valve is accomplished 
though the valve signal pass through connector to the control/signal module. The latch/unlatch signal sent to the 
control/signal module is transmitted to the valve adapter using a small, internal pin block. Figure 1.1 shows the 
control/signal module to valve adapter electrical interface. 

Many variations of the valve adapter with valve signal pass through are available, depending upon the Tool 
Changer size and type of porting required by the customer (see Table 1.1 and Section 8—Drawings for a complete 
listing of available adapters and customer drawings)

Figure 1.1—Valve Pass Through and Pressure Switch Connections

Control/Signal Module
9121-DU3-M (Shown)

9121-JP8-M Valve Adapter

Valve Pass Through
 Connection

Valve Pass Through
 Connection

Air Port 

Pressure Switch 
Connector

Pressure Switch Cable

Pressure Switch Guard

Table 1.1—Valve Adapters with a Double Solenoid, Valve Pass Through, and Pressure Switch Model

Module Description Air Port Size Compatible Tool Changer  
or Utility Coupler models

9121-JP9-M Double Solenoid Rc 1/4 (BSPT) QC-113, QC-210, QC-213, GL6L, GL7L
9121-JP10-M Double Solenoid Rc 1/4 (BSPT) QC-310, QC-313, QC-510, QC-1210
9121-JT10-M Double Solenoid 1/4 (NPT) QC-113, QC-210, QC-213, GL6L, GL7L
9121-JU6-M Double Solenoid G 1/4 (BSPP) QC-113, QC-210, QC-213, GL6L, GL7L
9121-JU7-M Double Solenoid G 1/4 (BSPP) QC-310, QC-313, QC-510, QC-1210

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-3

The valve adapter is equipped with an air pressure switch to monitor pressure of the air supply to the Valve Adapter.  
The valve adapter module works with a control/signal module that is equipped with a pressure switch connector 
such as the 9121-DU3-M module. A pressure switch guard is provided with the valve adapter that mounts to the 
control signal module and protects the switch. The pressure switch is equipped with a LED indicating the supplied 
air pressure exceeds 63 psi +/- 3 psi. The switch also provides a signal to the control/signal module. The pressure 
switch in this assembly is potted to achieve an IP65 rating which ensures that the pressure switch is not adjustable.  

The valve adapter provides a ledge mount for the control/signal Master module and provides a single air port 
connection for the customer air supply. Lock and unlock air connections to the Tool Changer or Utility Coupler are 
provided through ports in the ledge mount, O-rings in the body seal the connection. 

The valve adapter is equipped with an exhaust muffler, double solenoid valve, and LED indicators for the solenoid 
lock and unlock position, refer to Figure 1.2. Access to the solenoid valve manual override is provide through 
a screw in the aluminum housing, refer to Section 5.1.1—Solenoid Valve Manual Override Procedure for more 
information.

Figure 1.2—Valve Adapters with a Double Solenoid and Valve Pass Through

Exhaust Muffler

Air Supply Port

Solenoid Unlock LED

Double Solenoid Valve

Access to the Solenoid Valve Manual 
Unlock Override and Warning Label

Valve Pass Through Connection

Common Ledge
Mounting Feature

9121-JP9-M

Pressure Switch Pressure Switch
 Connector

Solenoid Lock LEDAccess to the Solenoid Valve Manual
 Lock Override and Warning Label

A tool adapter assembly (9005-20-1192) is required for the tool side which provides the proper spacing and a ledge 
mount for the control/signal Tool module. 

Figure 1.3—Tool Adapters Assembly

Ledge Mount Feature for
 Control/Signal Tool Module

Tool Adapter Assembly
 (9005-20-1192)

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-4

2.	 Installation
Valve adapters and tool adapter assemblies are typically installed by ATI prior to shipment. The steps below outline 
the field installation or removal as required.

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless 
the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical, 
air, water, etc.) are turned off, pressurized connections are purged and power is discharged 
from circuits in accordance with the customer’s safety practices and policies. Injury or 
equipment damage can occur with the Tool not placed and energized circuits on. Place the 
Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized 
connections, and verify all circuits are de-energized before performing maintenance or 
repair(s) on the Tool Changer or modules. 

2.1	 Valve Adapter Installation for QC-113, QC-210, QC-213, GL6L, GL7L
Tools required:	 2.5 mm, 3 mm and 5 mm hex key wrenches, torque wrench

Supplies required:	 clean rag, Loctite®
 222 and Loctite®

 242 (if fasteners do not have pre-applied adhesive)

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Clean the mounting surfaces.
5.	 (2) O-rings are required on the Master side Flat ‘A’ interface. Make sure these O-rings are present and 

lightly lubricated (refer to Figure 2.1).
6.	 Using the ledge feature to place the valve adapter adjacent to the ‘Flat A’ mounting surface. Align the 

valve adapter using the dowels in the bottom of the ledge feature. 
7.	 Apply Loctite 242 to the supplied M6 socket head cap screws. Secure the valve adapter with the M6 

socket head cap screws using a 5 mm  wrench. Tighten to 70 in-lbs (7.9 Nm).
8.	 Apply Loctite 222 to the (2) supplied M5 socket flat head cap screws. Secure the valve adapter with the 

M5 socket flat head cap screws using a 3 mm hex key wrench. Tighten to 28 in-lbs (3.2 Nm).

Figure 2.1—Valve Adapter Installation (QC-210 Shown)

Valve Adapter 9121-JP9-M (Shown)

(2) M6 Socket Head
 Cap Screw

(2) M6 Socket Head Cap Screws

Control/Signal Module
9121-DU3-M (Shown)

(2) M5 Socket Flat
 Head Cap Screw (2) O-ring

Tool Changer Master
(QC-210 Shown)

RTL (R1) Sensor Cable
Pneumatic 
Connection

Control/Signal Module Cleat
(3) M5 Socket Flat Head Cap Screw

Cable Channel in Bottom of Valve Adapter Module

Pressure Switch 
Connector

Pressure Switch Cable

Pressure Switch 
Guard

(2) M3 Socket Head Cap Screw

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-5

9.	 Route the RTL (R1) sensor cable through the cable channel in the bottom of the valve adapter. Refer to 
Figure 2.2.

10.	Install the cleat from the control/signal module to retain the RTL (R1) sensor cable in the cable channel, 
Secure the cleat with the (3) M5 socket flat head cap screws using a 3mm hex key wrench. Tighten to 
14 in-lbs (1.6 Nm).

11.	Make pneumatic connections to the valve adapter housing as required. Ensure that the connectors are 
cleaned prior to being secured as appropriate. ATI recommends using a thread sealant such as Loctite 
569 or similar.

12.	When the control/signal module is installed the pressure switch guard can be installed on the control 
module. Apply Loctite 222 to the (2) supplied M3 socket head cap screws and secure the guard with the 
(2) M3 socket head cap screws using a 2.5 mm hex key wrench. Tighten to 10 in-lbs (1.1 Nm).

NOTICE: When the control/signal modules is installed the pressure switch, Lock (L), Unlock 
(U), and RTL (R1 and R2) cables can be connected to the control/signal module. Refer to the 
control/signal module manual for instructions.

13.	After the procedure is complete, resume normal operation.

Figure 2.2—RTL (R1) Sensor Cable Routing

Valve Adapter
 9121-JP8-M

Control/Signal Module
9121-DU3-M (Shown)

Tool Changer Master
(QC-210 Shown)

RTL (R1)
Sensor Cable

Control/Signal Module Cleat

Cable Channel in Bottom
 of Valve Adapter Module

2.2	 Valve Adapter Removal for QC-113, QC-210, QC-213, GL6L, GL7L0
Refer to Figure 2.1.
Tools required:	 3 mm and 5 mm hex key wrenches 

1.	 IPlace the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Remove the control/signal module off the valve adapter. Refer to the control /signal module manual for 

instructions.
5.	 Remove the (3) M5 socket flat head cap screws securing the control/signal module cleat using a 3 mm 

hex key wrench. Remove the cleat. Refer to Figure 2.1.
6.	 Remove the RTL (R1) sensor cable from the cable channel in the bottom of the valve adapter. Refer to 

Figure 2.2.
7.	 Remove the (2) M5 socket flat head cap screws securing the valve adapter off the Tool Changer, using a 

3 mm hex key wrench 
8.	 Remove the (2) M6 socket head cap screws using a 5 mm hex key wrench and lift the valve adapter off 

the Tool Changer.
9.	 Make sure that the O-rings are retained at the Master side Flat ‘A’ mounting interface.

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-6

2.3	 Valve Adapter Installation for QC-310, QC-313, QC-510, QC-1210
Tools required:	 2.5 mm, 4 mm and 5 mm hex key wrenches, torque wrench

Supplies required:	 clean rag, Loctite®
 222 and Loctite®

 242 (if fasteners do not have pre-applied adhesive)

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Clean the mounting surfaces.
5.	 (2) O-rings are required on the Master side Flat ‘A’ interface. Make sure these O-rings are present and 

lightly lubricated (refer to Figure 2.3).

NOTICE: Makes sure the RTL (R1) sensor cable is in the cable channel in the Tool Changer 
body, so it will not get pinched when installing the valve adapter.

6.	 Using the ledge feature to place the valve adapter adjacent to the ‘Flat A’ mounting surface. Align the 
valve adapter using the dowels in the bottom of the ledge feature. 

7.	 Apply Loctite 242 to the supplied M6 socket head cap screws. Secure the valve adapter using the M6 
socket head cap screws using a 5 mm hex key wrench. Tighten to 70 in-lbs (7.9 Nm).

8.	 Apply Loctite 222 to the (2) supplied M5 socket head cap screws. Secure the valve adapter with the M5 
socket head cap screws using a 4 mm hex key wrench. Tighten to 55 in-lbs (6.2 Nm).

9.	 Make pneumatic connections to the valve adapter housing as required. Ensure that the connectors are 
cleaned prior to being secured as appropriate. ATI recommends using a thread sealant such as Loctite 
569 or similar.

10.	When the control/signal module is installed the pressure switch guard can be installed on the control 
module. Apply Loctite 222 to the (2) supplied M3 socket head cap screws and secure the guard with the 
(2) M3 socket head cap screws using a 2.5 mm hex key wrench. Tighten to 10 in-lbs (1.1 Nm).

NOTICE: When the control/signal modules is installed the pressure switch, Lock (L), Unlock 
(U), and RTL (R1 and R2) cables can be connected to the control/signal module. Refer to the 
control/signal module manual for instructions.

11.	After the procedure is complete, resume normal operation.

Figure 2.3—Valve Adapter Installation (QC-310 Shown)

Control/Signal
Module

(2) M6 Socket Head
 Cap Screw

(2) M5 Socket Head Cap Screws

(2) M6 Socket Head Cap Screw
Valve Adapter 9121-JP10-M (Shown) (2) O-ring

Pneumatic Connection

RTL (R1)
 Sensor Cable

Tool Changer Master
(QC-310 Shown)

Pressure Switch Connector

Pressure Switch Connector

Pressure Switch Guard
(2) M3 Socket Head Cap Screw

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-7

2.4	 Valve Adapter Removal for QC-310, QC-313, QC-510, QC-1210
Refer to Figure 2.3.
Tools required:	 4 mm and 5 mm hex key wrenches

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Remove the control/signal module off the valve adapter. Refer to the control /signal module manual for 

instructions.
5.	 Remove the (2) M5 socket head cap screws securing the valve adapter off the Tool Changer using a 4 

mm hex key wrench. 
6.	 Remove the (2) M6 socket head cap screws using a 5 mm hex key wrench and lift the valve adapter off 

the Tool Changer. Refer to Figure 2.3.
7.	 Make sure that the O-rings are retained at the Master side Flat ‘A’ mounting interface.

2.5	 Tool Adapter Assembly Installation
Tools required:	 4 mm and 5 mm hex key wrenches, torque wrench

Supplies required:	 clean rag, Loctite®
 222 and Loctite®

 242 (if fasteners do not have pre-applied adhesive)

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Clean the mounting surfaces.
5.	 Using the ledge feature to place the tool adapter assembly adjacent to the ‘Flat A’ mounting surface. 

Align the tool adapter assembly using the dowels in the bottom of the ledge feature. 
6.	 Apply Loctite 242 to the supplied M6 socket head cap screws. Secure the tool adapter with the M6 

socket head cap screws using a 5 mm hex key wrench. Tighten to 89 in-lbs (10.0 Nm).
7.	 Apply Loctite 222 to the (2) supplied M5 socket head cap screws. Secure the tool adapter with the M5 

socket head cap screws using a 4 mm hex key wrench. Tighten to 52 in-lbs (5.9 Nm).
8.	 After the procedure is complete, resume normal operation.

Figure 2.4—Tool Adapter Assembly Installation

Control/Signal 
Tool Module

(2) M6 Socket Head
 Cap Screws

(2) M5 Socket Head Cap Screws

(2) M6 Socket Head Cap Screws

(9005-20-1192) Tool Adapter Assembly

Tool Change Tool Plate
(QC-310 Shown)

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-8

2.6	 Tool Adapter Assembly Removal
Refer to Figure 2.4.
Tools required:	 4 mm and 5 mm hex key wrenches

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Disconnect the utilities from the attached modules (if required).
5.	 Removing the (2) M6 socket head cap screws using a 5 mm hex key wrench and lift the control/signal 

module off the tool adapter assembly (refer to Figure 2.4).
6.	 Remove the (2) M5 socket head cap screws securing the tool adapter assembly to the Tool Changer or 

Utility Coupler using a 4 mm hex key wrench.
7.	 Remove the (2) M6 socket head cap screws using a 5 mm hex key wrench and lift the tool adapter 

assembly off the Tool Changer or Utility Coupler.

2.7	 Pneumatic Connections
The air supply used for coupling and uncoupling the Tool Changer or Utility Coupler should be clean, 
dry, and non-lubricated. A supply pressure in the range of 60 to 100 psi (4.1–6.9 Bar) is acceptable for 
operation of the locking mechanism, with a setting of 80 psi suggested. The air should be filtered 40 micron 
or better. A single air supply is require to the valve adapter for Lock and Unlock air, refer to Figure 2.3 for 
connection.

CAUTION: Do not use the Tool Changer or Utility Coupler in a fail-safe condition. 
Do not transport the Tool Changer in a fail-safe condition. Possible damage to the 
locking mechanism could occur. Re-establish air pressure before returning to normal 
operations. 

2.8	 Electrical Connections
The electrical connection for valve control is made through an internal pin block as described in Section 1—
Product Overview and detailed in drawings in Section 8—Drawings. The control of the double solenoid 
valve is integrated with an ATI-supplied control/signal module that is piggy-backed onto the valve adapter.

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-9

3.	 Operation
Latch and Unlatch commands sent to the control/signal module are pass through the internal pin block to control 
the solenoid valve providing lock and unlock air to the Tool Changer. The control/signal module can provide a 
customer specified safety functionality to prevent the accidental unlock of the Tool Changer unless the Tool is 
nested in the tool stand. Depending on the functionality of the control/signal module, the ability to unlock the Tool 
Changer unless the tool is coupled and in the tool stand may be denied. When this is the case the manual override 
is provided on the valve adapter, refer to Section 5.1.1—Solenoid Valve Manual Override Procedure Use of the 
manual override should be restricted to contingency situations and only when the robot and tool are in the stand or 
storage location. Actuation of the Unlatch valve manual override will result in Tool Changer release.

WARNING: Tool Changer release will occur with actuation of the Unlatch valve manual 
override. Use of the manual override is restricted to contingency situations. The Tool Changer 
and Tool should be in a stand or storage location prior to actuation of the manual override.

It is important that the valve adapter be supplied with clean, dry, non-lubricated air supplied between 60 and 100 
psi (4.1–6.9 Bar) and filtered at 40 microns or better. Valve adapters are supplied with the Tool Changer to provide 
a fully integrated solution. The customer is only required to supply the valve adapter with a single air supply.

4.	 Maintenance
Valve adapters should require little maintenance. The only wear components are the valve itself and an exhaust 
muffler. Under normal operating conditions, the valve will last for millions of cycles. The exhaust muffler should be 
checked every 6 months of operation or more frequently in dirty environments to see if it is clogged.

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless 
the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical, 
air, water, etc.) are turned off, pressurized connections are purged and power is discharged 
from circuits in accordance with the customer’s safety practices and policies. Injury or 
equipment damage can occur with the Tool not placed and energized circuits on. Place the 
Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized 
connections, and verify all circuits are de-energized before performing maintenance or 
repair(s) on the Tool Changer or modules. 

To check if the exhaust muffler is clogged remove the muffler and blow through the muffler. If it is difficult to 
blow or you can not blow through it at all replace the exhaust muffler. Refer to Section 5.2.1—Exhaust Muffler 
Replacement.
Inspect pressure switch connection for air leaks or damage to switch or cable, if air leaking reinstall switch into 
valve adapter. If sensor or cable is damaged replace switch. refer to Section 5.2.2—Pressure Switch Replacement 

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-10

5.	 Troubleshooting and Service Procedures
Valve adapters with valve signal pass through are provided with LEDs to indicate whether or not power is being 
supplied to the double solenoid valve. This can be a valuable troubleshooting tool. Figure 5.1 shows the location of 
the LEDs. 

Figure 5.1— Valve Adapter LOCK and UNLOCK LED Locations

Solenoid Unlock LED

9121-JP9-M

Solenoid Lock LED

Exhaust Muffler

Pressure Switch

5.1	 Troubleshooting
Follow the suggested actions listed in Table 5.1 when attempting to troubleshoot the valve adapter. If issues persist, 
contact your closest ATI representative.

Table 5.1—Troubleshooting
Symptom Cause Resolution

Tool Changer or 
Utility Coupler will 
not Lock / Unlock or 
operates slowly.

Exhaust muffler is clogged. Check/Replace exhaust muffler; ensure clean air supply.

No or not enough air 
pressure on the pneumatic 
connection.

Make sure Pneumatic connection has minimum pressure, refer to 
Section 2.7—Pneumatic Connections.

Loose valve adapter or 
O-rings leaking or missing.

Verify that the fasteners connecting the control/signal module to the 
valve adapter are properly tightened. If air still leaking, remove the valve 
adapter module from the Tool Changer or Utility Coupler and check for air 
leaks, damaged or missing O-rings., Refer to Section 2.2—Valve Adapter 
Removal for QC-113, QC-210, QC-213, GL6L, GL7L0 or Section 2.4—
Valve Adapter Removal for QC-310, QC-313, QC-510, QC-1210.

No power is supplied to the 
Solenoid valve.

Monitor LOCKED and UNLOCKED LEDs to verify power is supplied to 
valve. If the LEDs do not light, verify valve power supply at control/signal 
module is present. if so replace valve adapter.

Tool Changer will 
Lock but not Unlock

Control/signal module 
safety features not met.

The tool stand Interlock, or other safety feature is preventing the Tool 
Changer from unlocking, refer to the control/signal module manual for 
more information. Control/signal module may not have bypass circuit and 
will have to be unlocked manually, refer to Section 5.1.1—Solenoid Valve 
Manual Override Procedure.

The pressure switch 
indicates insufficient 
or no air pressure.

Air line is clogged, no air 
pressure exists.

Check pressure at the connection, make sure a minimum of 60 psi is 
provided, if not check air lines for leaks or clogs. Check pressure source.

Pressure switch 
malfunctioning.

Apply proper air pressure, check if pressure switch LED indicate pressure 
is sufficient, check if signal sent through control/signal module indicate 
sufficient pressure, if not replace Pressure switch, refer to  Section 5.2.2—
Pressure Switch Replacement.

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-11

5.1.1	 Solenoid Valve Manual Override Procedure
The manual override procedure should be used when the Tool Changer is locked without the Tool 
plate attached. The control module safety circuit does not allow the Tool Changer to be unlatched 
without the Tool plate attached and the tool in the tool stand.

WARNING: Do not use the solenoid valve manual override if the tool is locked 
to the Master. Using the manual override will release the Tool and may cause 
bodily injury or damage to equipment. If the Tool is attached to the Master, 
it must be secured in the tool stand or in a location where the tool weight is 
supported before using the manual override.

CAUTION: The manual override is not intended for normal operations. Manual 
override is to be used in situations where no alternative is available to unlock 
the Master. Do not execute the Latch command unless the Master and the Tool 
are ready to be coupled.

Tools required:	 3 mm hex key, 2 mm ball end hex key

1.	 Using a 3 mm hex key, remove the M4 socket head cap screws, warning label, and nylon 
washer from the Unlock side of the solenoid valve. The Unlock side is marked with a “U”.

CAUTION: Applying excess force can damage the solenoid or cause the 
override button to stick in one position. Actuation of valve override buttons 
requires about 1 mm of travel and minimal of force. Use a non‑sharp object, 
similar to ball nose 2 mm hex key, to gently depress the override button; an air 
release should be heard when the solenoid is activated.

2.	 Insert a 2 mm ball end hex key in the unlock valve screw hole and gently depress the valve 
override button. An air release should be heard when the solenoid is actuated. Make sure the 
locking mechanism is fully retracted.

3.	 Using a 3 mm hex key, replace the M4 socket head cap screws, warning label, and nylon washer 
and tighten the screw.

Figure 5.2—Manual Override

Nylon Washer

Warning Label

M4 Socket Head Cap Screw

2 mm Ball End 
Hex Key

the Solenoid Valve
Override Button Inside 

Unlock Side of 

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-12

5.2	 Service Procedures
The following service procedures provide instructions for inspection, adjustment, test or replacement of 
components.

5.2.1	 Exhaust Muffler Replacement
The exhaust muffler allows air from the Tool Changer or Utility Coupler locking mechanism to be 
exhausted to the atmosphere, if the muffler is clogged it may affect the ability to Lock and Unlock 
the Tool Changer or Utility Coupler. Remove and check to make sure the exhaust muffler is not 
clogged.
Parts required:	 Refer to Section 8—Drawings.
Tools required:	 11 mm Wrench
Supplies required:	 Loctite 569

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Remove the exhaust muffler using a 11 mm wrench, blow through the muffler. If it is difficult 

to blow or you can not blow through it at all replace the exhaust muffler. Discard the exhaust 
muffler.

5.	 Thread the new exhaust muffler into the valve adapter housing. Tighten to contact plus one turn 
using a 11 mm wrench.

6.	 After the procedure is complete, resume normal operation.

Figure 5.3— Exhaust Muffler Replacement

Exhaust Muffler

9121-JT2-M (Shown)

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-13

5.2.2	 Pressure Switch Replacement
Tools required:	 2.5 mm hex key wrench, torque wrench

Supplies required:	 Loctite®
 222 (if fasteners do not have pre-applied adhesive)

Parts required:	 Refer to  Section 8—Drawings.

1.	 Place the Tool in a secure location.
2.	 Uncouple the Master and Tool plates.
3.	 Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.	 Remove the (2) M3 socket head cap screws  securing the pressure switch guard  to the module 

and remove the guard.
5.	 Disconnect the pressure switch cable from the control/signal module.
6.	 Using your fingers, press the flange on the quick connect fitting in towards the fitting and pull 

the pressure switch out. Discard the old switch.
7.	 Push the new pressure switch into the fitting.
8.	 Connect the pressure switch cable from the control/signal module.
9.	 Apply Loctite 222 to the (2) supplied M3 socket head cap screws and secure the guard with the 

(2) M3 socket head cap screws using a 2.5 mm hex key wrench. Tighten to 10 in-lbs (1.1 Nm).
10.	After the procedure is complete, resume normal operation.

Figure 5.4— Pressure Switch Replacement

Pressure Switch

Quick Connect Fitting

Pressure Switch Connector

Pressure Switch Cable

Pressure Switch Guard

(2) M3 Socket Head Cap Screw

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-14

6.	 Serviceable Parts
Refer to Section 8—Drawings for valve adapter serviceable parts.

6.1	 Tool Adapter Assembly Serviceable Parts

1

2

3

Table 5.2—Tool Adapter Assembly
ITEM NO. QTY PART NUMBER DESCRIPTION

1 1 9005-20-1192 Tool Adapter Assembly
2 2 3500-1066016-15A M6 x 16mm SHCS MB ND Microspheres
3 2 3500-1064035-15A M5 x 35mm SHCS MB, ND Microspheres

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-15

7.	 Specifications
Table 5.3—Valve Adapter Specifications

All Valve Adapter Models Specification

Interface Connections Integrated Solenoid Valve Connector: (4-Pin) pin block supporting Latch and Unlatch 
signals

Electrical Rating 19-29 VDC operational voltage (Solenoid Valve)

Current Draw Switched Power: 250 mA @ 24 VDC (Solenoid Valve) (only when locking or unlocking 
Tool Changer).

Air Pressure 60 - 100 psi (4.1 – 6.9 Bar) clean, dry, non-lubricated air

Air Filtration 40 microns

Environmental Resistance Dust and water resistant, but not water proof or IP67 compliant

Solenoid Valves Specification

Double Solenoid Valve MAC Series 48, DC Voltage, 6W Coil, Washdown, 250mA @ 19-29VDC 

Operational Temperature 
Range 0 °F - 120 °F (-17.8 °C - 49 °C)

Cv 1.1

9121-JP9-M Valve Adapter with Double Solenoid W/ Pressure Switch Rc and Valve Pass 
Through, QC-113, QC-210, QC-213, GL6L, or GL7L

Pneumatic Connection Rc 1/4 (BSPT)

Weight 1.74 lbs (0.79 kg)

9121-JP10-M Valve Adapter with Double Solenoid W/ Pressure Switch Rc and Valve Pass 
Through, QC-310, QC-313, QC-510, or QC-1210

Pneumatic Connection Rc 1/4 (BSPT)

Weight 1.98 lbs (0.90 kg)

9121-JT10-M Valve Adapter with Double Solenoid W/ Pressure Switch Rc and Valve Pass 
Through, QC-113, QC-210, QC-213, GL6L, or GL7L

Pneumatic Connection 1/4 (NPT)

Weight 1.635 lbs (0.74 kg)

9121-JU6-M Valve Adapter with Double Solenoid W/ Pressure Switch G and Valve Pass 
Through, QC-113, QC-210, QC-213, GL6L, or GL7L

Pneumatic Connection G 1/4 (BSPP)

Weight 1.46 lbs (0.66 kg)

9121-JU7-M Valve Adapter with Double Solenoid W/ Pressure Switch G and Valve Pass 
Through, QC-310, QC-313, QC-510, or QC-1210

Pneumatic Connection G 1/4 (BSPP)

Weight 1.7 lbs (0.77 kg)

Table 5.4—Tool Adapter Assembly Specifications

9005-20-1192 Tool Adapter Assembly, QC-210, QC-213, QC-310, QC-313, QC-510, QC-1210, 
GL6l, GL7L

Weight 1.33 lbs (0.603 kg)

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-16

8.	 Drawings
8.1	 Valve Adapters for QC-210 Tool Changers 

3r
d 

A
N

G
LE

 P
RO

JE
C

TIO
N

Le
dg

e 
M

ou
nt

Ex
ha

us
t M

uf
fle

r
Le

dg
e 

M
ou

nt

 5
6.

7 

 3
1.

8 

R
c 

1/
4 

(B
SP

T)
Ai

r P
or

t (
Ad

ap
te

r)
Se

e 
Ta

bl
e 

1 
fo

r M
od

el
s

Pr
es

su
re

 S
w

itc
h 

As
se

m
bl

y 

 1
58

.8
 

 2
2 

 5
6.

7 

 5
9  4
2.

1 
D

ou
bl

e 
So

le
no

id

 2
 7

 4
 6

1

 9 8
 5

 3

D
ET

AI
L 

A
SC

AL
E 

2 
: 1

1

43

 V
al

ve
 A

da
pt

er
s 

w
ith

 D
ou

bl
e 

So
le

no
id

, V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h,

 w
ith

 R
c 

1/
4 

(B
SP

T)
 A

ir 
Po

rt

N
ot

es
: Va

lv
e 

Ad
ap

te
r t

o 
To

ol
 C

ha
ng

er
 m

ou
nt

in
g 

ar
e 

sh
ow

n 
on

 S
he

et
 2

.
1.

Pn
eu

m
at

ic
 a

nd
 E

le
ct

ric
al

 S
ch

em
at

ic
 a

re
 s

ho
w

n 
on

 S
he

et
 3

.
2.

O
th

er
 m

od
el

s 
ar

e 
co

ve
re

d 
in

 th
e 

96
20

-2
0-

C
-J

xx
 V

al
ve

 a
da

pt
er

 w
ith

 a
 D

ou
bl

e 
So

le
no

id
, V

al
ve

 
3.

Pa
ss

 T
hr

u 
an

d 
Pr

es
su

re
 S

w
itc

h 
M

an
ua

l.

IT
EM

 
N

O
.

Q
TY

PA
R

T 
N

U
M

BE
R

D
ES

C
R

IP
TI

O
N

 1
1

34
05

-1
03

00
05

-0
1

Fi
tti

ng
, A

da
pt

er
, 1

/4
N

PT
 to

 G
1/

4
1

34
05

-1
03

00
08

-0
1

Ad
ap

te
r, 

1/
4 

N
PT

 M
al

e 
x 

R
c 

1/
4 

Fe
m

al
e

 2
1

34
05

-1
21

00
26

-0
1

Fi
tti

ng
, S

tra
ig

ht
, 3

/8
" T

ub
e,

 1
/8

" N
PT

F
 3

1
34

90
-0

01
00

05
-0

1
 A

ir 
Fi

lte
r, 

1/
4 

N
PT

 M
al

e 
X 

1/
4 

N
PT

 F
em

al
e

 4
1

34
90

-1
01

00
02

-0
0

C
on

ic
al

 B
re

at
he

r 1
/8

 N
PT

 5
2

35
00

-1
05

70
06

-1
5A

M
3-

0.
5 

x 
6m

m
 S

H
C

S,
 B

lu
e,

 P
re

-A
pp

lie
d

 6
2

35
00

-1
06

60
20

-1
5A

M
6-

1 
x 

20
m

m
 S

H
C

S,
 B

lu
e,

 P
re

-A
pp

lie
d

 7
2

35
00

-1
26

40
40

-1
5

M
5 

x 
40

m
m

 S
FH

C
S,

  B
lu

e 
D

ye
d 

M
ag

ni
-5

65

 8
1

37
00

-2
0-

10
98

5
PS

10
00

 G
ua

rd
 fo

r u
se

 w
ith

 Q
C

21
0 

Va
lv

e 
Ad

ap
te

rs
 9

1
90

15
-2

0-
12

65
R

ob
us

t P
S1

00
0 

Se
ns

or
 A

ss
em

bl
y

Re
v.

D
es

cr
ip

tio
n

In
iti

at
or

D
at

e

05
Ec

o 
18

90
1;

 A
d

d
ed

 In
lin

e 
Fi

lte
r 3

49
0-

00
10

00
5-

01
; 

A
d

d
ed

 D
im

 (5
9)

.
C

F
4/

14
/2

02
0

B
1:

2
1

3
RE

VI
SI

O
N

N
O

TE
S:

  U
N

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IF
IE

D
.

D
O

 N
O

T 
SC

A
LE

 D
RA

W
IN

G
.  

A
LL

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 
M

ILL
IM

ET
ER

S.

D
RA

W
N

 B
Y:

C
HE

C
KE

D
 B

Y:

E.
 M

cC
ai

n,
 2

/1
7/

16

W
. B

er
ro

ca
l, 

2/
18

/1
6

TIT
LE SC

A
LE

SI
ZE

D
RA

W
IN

G
 N

UM
BE

R

PR
O

JE
C

T 
#

SH
EE

T 
   

   
O

F 
96

30
-2

0-
Jx

x 
D

ou
 S

ol
 P

as
 T

h 
Pr

 S
w

 2
10

14
10

30
-3

05

PR
O

PE
RT

Y 
O

F 
A

TI 
IN

D
US

TR
IA

L 
A

UT
O

M
A

TIO
N

, I
N

C
. N

O
T 

TO
 B

E 
RE

PR
O

D
UC

ED
 IN

 A
N

Y 
M

A
N

N
ER

 E
XC

EP
T 

O
N

 O
RD

ER
 O

R 
W

ITH
 P

RI
O

R 
W

RI
TT

EN
 A

UT
HO

RI
ZA

TIO
N

 O
F 

A
TI.

10
31

 G
oo

dw
or

th 
Dr

ive
, A

pe
x, 

NC
 27

53
9, 

US
A

Te
l: +

1.9
19

.77
2.0

11
5  

    
Em

ail
: in

fo@
ati

-ia
.co

m
Fa

x: 
+1

.91
9.7

72
.82

59
    

  w
ww

.at
i-ia

.co
m

IS
O 

90
01

 R
eg

ist
er

ed
 C

om
pa

ny

 

Va
lv

e 
Ad

ap
te

r, 
D

ou
bl

e 
So

le
no

id
, R

c,
 Q

C
-2

10
 w

/ V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-17

3r
d 

A
N

G
LE

 P
RO

JE
C

TIO
N

Se
e 

N
ot

e 
2

Q
C

-2
10

 
(S

ho
w

n 
fo

r 
R

ef
er

en
ce

)
91

21
-J

P9
-M

 (S
ho

w
n)

C
on

tro
l/S

ig
na

l M
od

ul
e

Th
e 

va
lv

e 
ad

ap
te

r a
nd

 
co

nt
ro

l/s
ig

na
l m

od
ul

e 
ar

e 
m

ou
nt

ed
 to

 F
la

t A
 

on
 th

e 
To

ol
 C

ha
ng

er
. 

D
ET

AI
L 

B
SC

AL
E 

1 
: 1

Pr
es

su
re

 S
w

itc
h 

C
on

ne
ct

or
(P

re
ss

ur
e 

Sw
itc

h 
N

ot
 S

ho
w

n)

W
A

R
N

IN
G

U
N

LO
C

K 
Va

lv
e 

M
an

ua
l O

ve
rri

de
 A

cc
es

s
(S

up
pl

ie
d 

w
/ C

ov
er

 S
cr

ew
 a

nd
 W

ar
ni

ng
 L

ab
el

)
Se

e 
N

ot
e 

1.
 

LE
D

 in
di

ca
te

s 
if 

po
w

er
 is

 
su

pp
lie

d 
to

 U
N

LO
C

K 
si

de
 o

f 
so

le
no

id

D
ET

AI
L 

C
SC

AL
E 

1 
: 1

LO
C

K 
Va

lv
e 

M
an

ua
l O

ve
rri

de
 A

cc
es

s
(S

up
pl

ie
d 

w
/ C

ov
er

 S
cr

ew
 a

nd
 W

ar
ni

ng
 L

ab
el

)

LE
D

 in
di

ca
te

s 
if 

po
w

er
 is

 
su

pp
lie

d 
to

 L
O

C
K 

si
de

 o
f 

so
le

no
id

.

N
ot

es
: W

AR
NI

NG
:  

To
ol

 R
el

ea
se

 W
ill

 O
cc

ur
 w

ith
 a

ct
ua

tio
n 

of
 th

e 
Un

la
tc

h 
Va

lv
e 

M
an

ua
l O

ve
rr

id
e.

1.
Us

e 
of

 th
e 

va
lv

e 
m

an
ua

l o
ve

rr
id

e 
is

 re
st

ric
te

d 
to

 c
on

tin
ge

nc
y 

si
tu

at
io

ns
.  

Th
e 

to
ol

 c
ha

ng
er

 a
nd

 
as

so
ci

at
ed

 to
ol

 s
ho

ul
d 

be
 in

 a
 s

ta
nd

 o
r s

to
ra

ge
 lo

ca
tio

n 
pr

io
r t

o 
ac

tu
at

io
n 

of
 th

e 
m

an
ua

l 
ov

er
rid

e.
 

NO
TI

CE
:  

Ac
tu

at
io

n 
of

 v
al

ve
 o

ve
rr

id
e 

bu
tto

ns
 re

qu
ire

s 
ve

ry
 li

ttl
e 

tra
ve

l (
~1

m
m

) a
nd

 o
nl

y 
a 

sm
al

l 
am

ou
nt

 o
f f

or
ce

.  
Ap

pl
yi

ng
 e

xc
es

s 
fo

rc
e 

ca
n 

da
m

ag
e 

th
e 

so
le

no
id

 o
r c

au
se

 o
ve

rr
id

e 
bu

tto
n 

to
 

st
ic

k 
in

 o
ne

 p
os

iti
on

. U
se

 n
on

-s
ha

rp
 o

bj
ec

t, 
si

m
ila

r t
o 

ba
ll 

no
se

 2
m

m
 A

lle
n 

ke
y,

 to
 g

en
tly

 
de

pr
es

s 
th

e 
ov

er
rid

e 
bu

tto
n;

 a
n 

ai
r r

el
ea

se
 s

ho
ul

d 
be

 h
ea

rd
 w

he
n 

th
e 

so
le

no
id

 is
 a

ct
iv

at
ed

.

Th
e 

va
lv

e 
ad

ap
te

rs
 w

ith
 d

ou
bl

e 
so

le
no

id
 a

re
 d

es
ig

ne
d 

to
 b

e 
in

te
gr

at
ed

 w
ith

 s
pe

ci
fic

 m
od

el
s 

of
 

2.
co

nt
ro

l/s
ig

na
l m

od
ul

es
 w

ith
 a

 v
al

ve
 c

on
ne

ct
or

. T
he

 V
al

ve
 A

da
pt

er
 p

ro
vi

de
s 

ro
ut

in
g 

fo
r t

he
 re

ad
y 

to
 

lo
ck

 s
en

so
r c

ab
le

 fr
om

 th
e 

To
ol

 C
ha

ng
er

 o
r U

til
ity

 C
ou

pl
er

 to
 th

e 
co

nt
ro

l/s
ig

na
l m

od
ul

e.
Th

e 
Va

lv
e 

Ad
ap

te
rs

 in
cl

ud
e 

a 
Pr

es
su

re
 S

w
itc

h 
As

se
m

bl
y.

 T
he

 P
re

ss
ur

e 
Sw

itc
h 

tu
rn

s 
on

 (i
nd

ic
at

ed
 b

y 
3.

re
d 

LE
D

) w
he

n 
th

e 
su

pp
ly

 p
re

ss
ur

e 
to

 th
e 

Va
lv

e 
re

ac
he

s 
or

 e
xc

ee
ds

 6
0 

ps
i (

N
ot

e:
 th

e 
Pr

es
su

re
 

Sw
itc

h 
ou

tp
ut

 is
 P

N
P)

. T
he

 a
ir 

pr
es

su
re

 to
 th

e 
Pr

es
su

re
 S

w
itc

h 
is

 N
O

T 
to

 e
xc

ee
d 

14
5 

ps
i. 

Th
e 

Pr
es

su
re

 S
w

itc
h 

is
 e

nc
ap

su
la

te
d 

in
 tr

an
sl

uc
en

t 3
M

 D
P1

25
 p

ot
tin

g 
to

 a
ch

ie
ve

 IP
65

 ra
tin

g.
Th

e 
Pr

es
su

re
 S

w
itc

h 
in

se
rts

 in
to

 th
e 

1/
4"

 tu
be

 p
us

h-
to

-c
on

ne
ct

 fi
tti

ng
.  

4.
B

1:
5

2
3

RE
VI

SI
O

N

N
O

TE
S:

  U
N

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IF
IE

D
.

D
O

 N
O

T 
SC

A
LE

 D
RA

W
IN

G
.  

A
LL

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 
M

ILL
IM

ET
ER

S.

D
RA

W
N

 B
Y:

C
HE

C
KE

D
 B

Y:

E.
 M

cC
ai

n,
 2

/1
7/

16

W
. B

er
ro

ca
l, 

2/
18

/1
6

TIT
LE SC

A
LE

SI
ZE

D
RA

W
IN

G
 N

UM
BE

R

PR
O

JE
C

T 
#

SH
EE

T 
   

   
O

F 
96

30
-2

0-
Jx

x 
D

ou
 S

ol
 P

as
 T

h 
Pr

 S
w

 2
10

14
10

30
-3

05

PR
O

PE
RT

Y 
O

F 
A

TI 
IN

D
US

TR
IA

L 
A

UT
O

M
A

TIO
N

, I
N

C
. N

O
T 

TO
 B

E 
RE

PR
O

D
UC

ED
 IN

 A
N

Y 
M

A
N

N
ER

 E
XC

EP
T 

O
N

 O
RD

ER
 O

R 
W

ITH
 P

RI
O

R 
W

RI
TT

EN
 A

UT
HO

RI
ZA

TIO
N

 O
F 

A
TI.

10
31

 G
oo

dw
or

th 
Dr

ive
, A

pe
x, 

NC
 27

53
9, 

US
A

Te
l: +

1.9
19

.77
2.0

11
5  

    
Em

ail
: in

fo@
ati

-ia
.co

m
Fa

x: 
+1

.91
9.7

72
.82

59
    

  w
ww

.at
i-ia

.co
m

IS
O 

90
01

 R
eg

ist
er

ed
 C

om
pa

ny

 

Va
lv

e 
Ad

ap
te

r, 
D

ou
bl

e 
So

le
no

id
, R

c,
 Q

C
-2

10
 w

/ V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-18

3r
d 

A
N

G
LE

 P
RO

JE
C

TIO
N

N
ot

es
: Th

e 
91

21
-J

P9
-M

 v
al

ve
 a

da
pt

er
 u

til
iz

es
 a

 d
ou

bl
e 

so
le

no
id

 5
/2

 v
al

ve
.T

he
 v

al
ve

 
1.

re
qu

ire
s 

su
pp

ly
 v

ol
ta

ge
 b

et
w

ee
n 

19
-2

9V
. T

he
 V

al
ve

 C
V 

is
 1

.1
.

Th
e 

va
lv

e 
m

us
t b

e 
su

pp
lie

d 
cl

ea
n,

 d
ry

, n
on

-lu
br

ic
at

ed
 a

ir 
at

 6
0 

to
 1

00
 p

si
 (4

.1
-6

.9
 

2.
Ba

r) 
an

d 
fil

te
re

d 
at

 4
0 

m
ic

ro
ns

 o
r b

et
te

r. 
N

O
TE

: S
up

pl
y 

pr
es

su
re

 is
 a

ls
o 

fe
d 

to
 th

e 
el

ec
tro

ni
c 

Pr
es

su
re

 S
w

itc
h.

 T
he

 v
al

ve
 w

ill 
N

O
T 

op
er

at
e 

co
rre

ct
ly

 if
 in

su
ffi

ci
en

t a
ir 

pr
es

su
re

 is
 s

up
pl

ie
d.

It 
is

 c
rit

ic
al

 th
at

 th
e 

ex
ha

us
t m

uf
fle

rs
 a

re
 n

ot
 re

st
ric

te
d.

 A
s 

pa
rt 

of
 a

 p
re

ve
nt

at
iv

e 
3.

m
ai

nt
en

an
ce

 p
ro

gr
am

, p
er

io
di

ca
lly

 in
sp

ec
t a

nd
/o

r r
ep

la
ce

 th
e 

ex
ha

us
t m

uf
fle

rs
.

B
1:

2
3

3
RE

VI
SI

O
N

N
O

TE
S:

  U
N

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IF
IE

D
.

D
O

 N
O

T 
SC

A
LE

 D
RA

W
IN

G
.  

A
LL

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 
M

ILL
IM

ET
ER

S.

D
RA

W
N

 B
Y:

C
HE

C
KE

D
 B

Y:

E.
 M

cC
ai

n,
 2

/1
7/

16

W
. B

er
ro

ca
l, 

2/
18

/1
6

TIT
LE SC

A
LE

SI
ZE

D
RA

W
IN

G
 N

UM
BE

R

PR
O

JE
C

T 
#

SH
EE

T 
   

   
O

F 
96

30
-2

0-
Jx

x 
D

ou
 S

ol
 P

as
 T

h 
Pr

 S
w

 2
10

14
10

30
-3

05

PR
O

PE
RT

Y 
O

F 
A

TI 
IN

D
US

TR
IA

L 
A

UT
O

M
A

TIO
N

, I
N

C
. N

O
T 

TO
 B

E 
RE

PR
O

D
UC

ED
 IN

 A
N

Y 
M

A
N

N
ER

 E
XC

EP
T 

O
N

 O
RD

ER
 O

R 
W

ITH
 P

RI
O

R 
W

RI
TT

EN
 A

UT
HO

RI
ZA

TIO
N

 O
F 

A
TI.

10
31

 G
oo

dw
or

th 
Dr

ive
, A

pe
x, 

NC
 27

53
9, 

US
A

Te
l: +

1.9
19

.77
2.0

11
5  

    
Em

ail
: in

fo@
ati

-ia
.co

m
Fa

x: 
+1

.91
9.7

72
.82

59
    

  w
ww

.at
i-ia

.co
m

IS
O 

90
01

 R
eg

ist
er

ed
 C

om
pa

ny

 

Va
lv

e 
Ad

ap
te

r, 
D

ou
bl

e 
So

le
no

id
, R

c,
 Q

C
-2

10
 w

/ V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-19

8.2	 Valve Adapters for QC-310 Tool Changers

3r
d 

A
N

G
LE

 P
RO

JE
C

TIO
N

Le
dg

e 
M

ou
nt

Le
dg

e 
M

ou
nt

Ex
ha

us
t 

M
uf

fle
r

 1
58

.8
 

 6
7.

4  2
2 

 3
9.

7  2
9 

D
ou

bl
e 

So
le

no
id

R
c 

1/
4 

(B
SP

T)
Ai

r P
or

t (
Ad

ap
te

r)
Se

e 
Ta

bl
e 

1 
fo

r 
M

od
el

s

Pr
es

su
re

 S
w

itc
h

As
se

m
bl

y

 6
7.

4 

 3
1.

8 

6

4

7

2

9

1

8

5

?

D
ET

AI
L 

A
SC

AL
E 

2 
: 1

1
3 4

 V
al

ve
 A

da
pt

er
s 

w
ith

 D
ou

bl
e 

So
le

no
id

, V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h,

 w
ith

 R
c 

1/
4 

(B
SP

T)
 A

ir 
Po

rt

N
ot

es
: Va

lv
e 

Ad
ap

te
r t

o 
To

ol
 C

ha
ng

er
 m

ou
nt

in
g 

ar
e 

sh
ow

n 
on

 S
he

et
 2

.
1.

Pn
eu

m
at

ic
 a

nd
 E

le
ct

ric
al

 S
ch

em
at

ic
 a

re
 s

ho
w

n 
on

 S
he

et
 3

.
2.

O
th

er
 m

od
el

s 
ar

e 
co

ve
re

d 
in

 th
e 

96
20

-2
0-

C
-J

xx
 V

al
ve

 a
da

pt
er

 w
ith

 a
 D

ou
bl

e 
So

le
no

id
, V

al
ve

 
3.

Pa
ss

 T
hr

u 
an

d 
Pr

es
su

re
 S

w
itc

h 
M

an
ua

l.

Re
v.

D
es

cr
ip

tio
n

In
iti

at
or

D
at

e

05
Ec

o 
18

90
1;

 A
d

d
ed

 In
lin

e 
Fi

lte
r 3

49
0-

00
10

00
5-

01
; 

A
d

d
ed

 D
im

 (5
9)

.
C

F
4/

14
/2

02
0

IT
EM

 N
O

.
Q

TY
PA

R
T 

N
U

M
BE

R
D

ES
C

R
IP

TI
O

N

1
1

34
05

-1
03

00
05

-0
1

Fi
tti

ng
, A

da
pt

er
, 1

/4
N

PT
 to

 G
1/

4
1

34
05

-1
03

00
08

-0
1

Ad
ap

te
r, 

1/
4 

N
PT

 M
al

e 
x 

R
c 

1/
4 

Fe
m

al
e

2
1

34
05

-1
21

00
26

-0
1

Fi
tti

ng
, S

tra
ig

ht
, 3

/8
" T

ub
e,

 1
/8

" N
PT

F
4

1
34

90
-1

01
00

02
-0

0
C

on
ic

al
 B

re
at

he
r 1

/8
 N

PT
5

2
35

00
-1

05
70

06
-1

5A
M

3-
0.

5 
x 

6m
m

 S
H

C
S,

 B
lu

e,
 P

re
-A

pp
lie

d
6

2
35

00
-1

06
40

30
-1

2
M

5-
0.

8 
x 

30
m

m
 S

H
C

S,
 Z

in
c

7
2

35
00

-1
06

60
20

-1
5A

M
6-

1 
x 

20
m

m
 S

H
C

S,
 B

lu
e,

 P
re

-A
pp

lie
d

8
1

37
00

-2
0-

10
98

6
PS

10
00

 G
ua

rd
 fo

r u
se

 w
ith

 Q
C

31
0 

Va
lv

e 
Ad

ap
te

rs
9

1
90

15
-2

0-
12

65
R

ob
us

t P
S1

00
0 

Se
ns

or
 A

ss
em

bl
y

B
1:

2
1

3
RE

VI
SI

O
N

N
O

TE
S:

  U
N

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IF
IE

D
.

D
O

 N
O

T 
SC

A
LE

 D
RA

W
IN

G
.  

A
LL

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 
M

ILL
IM

ET
ER

S.

D
RA

W
N

 B
Y:

C
HE

C
KE

D
 B

Y:

E.
 M

cC
ai

n,
 2

/1
9/

16

W
. B

er
ro

ca
l, 

2/
23

/1
6

TIT
LE SC

A
LE

SI
ZE

D
RA

W
IN

G
 N

UM
BE

R

PR
O

JE
C

T 
#

SH
EE

T 
   

   
O

F 
96

30
-2

0-
Jx

x 
D

ou
 S

ol
 P

as
 T

h 
Pr

 S
w

 3
10

14
10

30
-3

PR
O

PE
RT

Y 
O

F 
A

TI 
IN

D
US

TR
IA

L 
A

UT
O

M
A

TIO
N

, I
N

C
. N

O
T 

TO
 B

E 
RE

PR
O

D
UC

ED
 IN

 A
N

Y 
M

A
N

N
ER

 E
XC

EP
T 

O
N

 O
RD

ER
 O

R 
W

ITH
 P

RI
O

R 
W

RI
TT

EN
 A

UT
HO

RI
ZA

TIO
N

 O
F 

A
TI.

10
31

 G
oo

dw
or

th 
Dr

ive
, A

pe
x, 

NC
 27

53
9, 

US
A

Te
l: +

1.9
19

.77
2.0

11
5  

    
Em

ail
: in

fo@
ati

-ia
.co

m
Fa

x: 
+1

.91
9.7

72
.82

59
    

  w
ww

.at
i-ia

.co
m

IS
O 

90
01

 R
eg

ist
er

ed
 C

om
pa

ny

 

Va
lv

e 
Ad

ap
te

r, 
D

ou
bl

e 
So

le
no

id
, R

c,
 Q

C
-3

10
 w

/ V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h

http://www.ati-ia.com/


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-20

3r
d 

A
N

G
LE

 P
RO

JE
C

TIO
N

Th
e 

va
lv

e 
ad

ap
te

r a
nd

 
co

nt
ro

l/s
ig

na
l m

od
ul

e 
ar

e 
m

ou
nt

ed
 

to
 F

la
t A

 o
n 

th
e 

To
ol

 C
ha

ng
er

. 
C

on
tro

l/S
ig

na
l M

od
ul

e

91
21

-J
P1

0-
M

 (S
ho

w
n)

Q
C

-3
10

 
(S

ho
w

n 
fo

r 
R

ef
er

en
ce

)

D
ET

AI
L 

B
SC

AL
E 

2 
: 3

Pr
es

su
re

 S
en

so
r 

C
on

ne
ct

or
W

A
R

N
IN

G
U

N
LO

C
K 

Va
lv

e 
M

an
ua

l O
ve

rri
de

 A
cc

es
s.

 
(S

up
pl

ie
d 

w
/ C

ov
er

 S
cr

ew
 a

nd
 W

ar
ni

ng
 L

ab
el

) 
Se

e 
N

ot
e 

1.
 

LE
D

 in
di

ca
te

s 
if 

po
w

er
 

is
 s

up
pl

ie
d 

to
 U

N
LO

C
K 

si
de

 o
f t

he
 s

ol
en

oi
d.

D
ET

AI
L 

C
SC

AL
E 

2 
: 3

W
A

R
N

IN
G

LO
C

K 
Va

lv
e 

M
an

ua
l O

ve
rri

de
 A

cc
es

s.
 

(S
up

pl
ie

d 
w

/ C
ov

er
 S

cr
ew

 a
nd

 W
ar

ni
ng

 L
ab

el
) 

Se
e 

N
ot

e 
1.

 

LE
D

 in
di

ca
te

s 
if 

po
w

er
 is

 s
up

pl
ie

d 
to

 
th

e 
LO

C
K 

si
de

 o
f t

he
 

so
le

no
id

. 

N
ot

es
: W

AR
NI

NG
:  

To
ol

 R
el

ea
se

 W
ill

 O
cc

ur
 w

ith
 a

ct
ua

tio
n 

of
 th

e 
Un

la
tc

h 
Va

lv
e 

M
an

ua
l O

ve
rr

id
e.

1.
Us

e 
of

 th
e 

va
lv

e 
m

an
ua

l o
ve

rr
id

e 
is

 re
st

ric
te

d 
to

 c
on

tin
ge

nc
y 

si
tu

at
io

ns
.  

Th
e 

to
ol

 c
ha

ng
er

 
an

d 
as

so
ci

at
ed

 to
ol

 s
ho

ul
d 

be
 in

 a
 s

ta
nd

 o
r s

to
ra

ge
 lo

ca
tio

n 
pr

io
r t

o 
ac

tu
at

io
n 

of
 th

e 
m

an
ua

l o
ve

rr
id

e.
 

NO
TI

CE
:  

Ac
tu

at
io

n 
of

 v
al

ve
 o

ve
rr

id
e 

bu
tto

ns
 re

qu
ire

s 
ve

ry
 li

ttl
e 

tra
ve

l (
~1

m
m

) a
nd

 o
nl

y 
a 

sm
al

l a
m

ou
nt

 o
f f

or
ce

.  
Ap

pl
yi

ng
 e

xc
es

s 
fo

rc
e 

ca
n 

da
m

ag
e 

th
e 

so
le

no
id

 o
r c

au
se

 o
ve

rr
id

e 
bu

tto
n 

to
 s

tic
k 

in
 o

ne
 p

os
iti

on
. U

se
 n

on
-s

ha
rp

 o
bj

ec
t, 

si
m

ila
r t

o 
ba

ll 
no

se
 2

m
m

 A
lle

n 
ke

y,
 

to
 g

en
tly

 d
ep

re
ss

 th
e 

ov
er

rid
e 

bu
tto

n;
 a

n 
ai

r r
el

ea
se

 s
ho

ul
d 

be
 h

ea
rd

 w
he

n 
th

e 
so

le
no

id
 is

 
ac

tiv
at

ed
.

Th
e 

va
lv

e 
ad

ap
te

rs
 w

ith
 d

ou
bl

e 
so

le
no

id
 a

re
 d

es
ig

ne
d 

to
 b

e 
in

te
gr

at
ed

 w
ith

 s
pe

ci
fic

 m
od

el
s 

of
 

2.
co

nt
ro

l/s
ig

na
l m

od
ul

es
 w

ith
 a

 v
al

ve
 c

on
ne

ct
or

. T
he

 V
al

ve
 A

da
pt

er
 p

ro
vi

de
s 

ro
ut

in
g 

fo
r t

he
 re

ad
y 

to
 lo

ck
 s

en
so

r c
ab

le
 fr

om
 th

e 
To

ol
 C

ha
ng

er
 to

 th
e 

co
nt

ro
l/s

ig
na

l m
od

ul
e.

Th
e 

Va
lv

e 
Ad

ap
te

rs
 in

cl
ud

e 
a 

Pr
es

su
re

 S
w

itc
h 

As
se

m
bl

y.
 T

he
 P

re
ss

ur
e 

Sw
itc

h 
tu

rn
s 

on
 

3.
(in

di
ca

te
d 

by
 re

d 
LE

D
) w

he
n 

th
e 

su
pp

ly
 p

re
ss

ur
e 

to
 th

e 
Va

lv
e 

re
ac

he
s 

or
 e

xc
ee

ds
 6

0 
ps

i (
N

ot
e:

 
th

e 
Pr

es
su

re
 S

w
itc

h 
ou

tp
ut

 is
 P

N
P)

. T
he

 a
ir 

pr
es

su
re

 to
 th

e 
Pr

es
su

re
 S

w
itc

h 
is

 N
O

T 
to

 
ex

ce
ed

 1
45

 p
si

. T
he

 P
re

ss
ur

e 
Sw

itc
h 

is
 e

nc
ap

su
la

te
d 

in
 tr

an
sl

uc
en

t 3
M

 D
P1

25
 p

ot
tin

g 
to

 
ac

hi
ev

e 
IP

65
 ra

tin
g.

Th
e 

Pr
es

su
re

 S
w

itc
h 

in
se

rts
 in

to
 th

e 
6m

m
 p

us
h-

to
-c

on
ne

ct
 fi

tti
ng

.  
4.

B
1:

4
2

3
RE

VI
SI

O
N

N
O

TE
S:

  U
N

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IF
IE

D
.

D
O

 N
O

T 
SC

A
LE

 D
RA

W
IN

G
.  

A
LL

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 
IN

C
HE

S.

D
RA

W
N

 B
Y:

C
HE

C
KE

D
 B

Y:

E.
 M

cC
ai

n,
 2

/1
9/

16

W
. B

er
ro

ca
l, 

2/
23

/1
6

TIT
LE SC

A
LE

SI
ZE

D
RA

W
IN

G
 N

UM
BE

R

PR
O

JE
C

T 
#

SH
EE

T 
   

   
O

F 
96

30
-2

0-
Jx

x 
D

ou
 S

ol
 P

as
 T

h 
Pr

 S
w

 3
10

14
10

30
-3

05

PR
O

PE
RT

Y 
O

F 
A

TI 
IN

D
US

TR
IA

L 
A

UT
O

M
A

TIO
N

, I
N

C
. N

O
T 

TO
 B

E 
RE

PR
O

D
UC

ED
 IN

 A
N

Y 
M

A
N

N
ER

 E
XC

EP
T 

O
N

 O
RD

ER
 O

R 
W

ITH
 P

RI
O

R 
W

RI
TT

EN
 A

UT
HO

RI
ZA

TIO
N

 O
F 

A
TI.

10
31

 G
oo

dw
or

th 
Dr

ive
, A

pe
x, 

NC
 27

53
9, 

US
A

Te
l: +

1.9
19

.77
2.0

11
5  

    
Em

ail
: in

fo@
ati

-ia
.co

m
Fa

x: 
+1

.91
9.7

72
.82

59
    

  w
ww

.at
i-ia

.co
m

IS
O 

90
01

 R
eg

ist
er

ed
 C

om
pa

ny

 

Va
lv

e 
Ad

ap
te

r, 
D

ou
bl

e 
So

le
no

id
, R

c,
 Q

C
-3

10
 w

/ V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h

http://www.ati-ia.com


Manual, Valve Adapters
Document #9620-20-C-Jxx Valve Adapters w Double Solenoid Valve Pass Through Pres Switch-04

Pinnacle Park • 1031 Goodworth Drive • Apex, NC 27539 • Tel: 919.772.0115 • Fax: 919.772.8259 • www.ati-ia.com 
C-21

3r
d 

A
N

G
LE

 P
RO

JE
C

TIO
N

N
ot

es
: Th

e 
91

21
-J

P1
0-

M
 v

al
ve

 a
da

pt
er

 u
til

iz
es

 a
 d

ou
bl

e 
so

le
no

id
 5

/2
 v

al
ve

.T
he

 v
al

ve
 re

qu
ire

s 
su

pp
ly

 
1.

vo
lta

ge
 b

et
w

ee
n 

19
-2

9V
. T

he
 V

al
ve

 C
V 

is
 1

.1
Th

e 
va

lv
e 

m
us

t b
e 

su
pp

lie
d 

cl
ea

n,
 d

ry
, n

on
-lu

br
ic

at
ed

 a
ir 

at
 6

0 
to

 1
00

 p
si

 (4
.1

-6
.9

 B
ar

) a
nd

 fi
lte

re
d 

2.
at

 4
0 

m
ic

ro
ns

 o
r b

et
te

r. 
N

O
TE

: S
up

pl
y 

pr
es

su
re

 is
 a

ls
o 

fe
d 

to
 th

e 
el

ec
tro

ni
c 

Pr
es

su
re

 S
w

itc
h.

 T
he

 
va

lv
e 

w
ill 

N
O

T 
op

er
at

e 
co

rre
ct

ly
 if

 in
su

ffi
ci

en
t a

ir 
pr

es
su

re
 is

 s
up

pl
ie

d.
It 

is
 c

rit
ic

al
 th

at
 th

e 
ex

ha
us

t m
uf

fle
rs

 a
re

 n
ot

 re
st

ric
te

d.
 A

s 
pa

rt 
of

 a
 p

re
ve

nt
at

iv
e 

m
ai

nt
en

an
ce

 
3.

pr
og

ra
m

, p
er

io
di

ca
lly

 in
sp

ec
t a

nd
/o

r r
ep

la
ce

 th
e 

ex
ha

us
t m

uf
fle

rs
.

B
1:

4
3

3
RE

VI
SI

O
N

N
O

TE
S:

  U
N

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IF
IE

D
.

D
O

 N
O

T 
SC

A
LE

 D
RA

W
IN

G
.  

A
LL

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 
IN

C
HE

S.

D
RA

W
N

 B
Y:

C
HE

C
KE

D
 B

Y:

E.
 M

cC
ai

n,
 2

/1
9/

16

W
. B

er
ro

ca
l, 

2/
23

/1
6

TIT
LE SC

A
LE

SI
ZE

D
RA

W
IN

G
 N

UM
BE

R

PR
O

JE
C

T 
#

SH
EE

T 
   

   
O

F 
96

30
-2

0-
Jx

x 
D

ou
 S

ol
 P

as
 T

h 
Pr

 S
w

 3
10

14
10

30
-3

05

PR
O

PE
RT

Y 
O

F 
A

TI 
IN

D
US

TR
IA

L 
A

UT
O

M
A

TIO
N

, I
N

C
. N

O
T 

TO
 B

E 
RE

PR
O

D
UC

ED
 IN

 A
N

Y 
M

A
N

N
ER

 E
XC

EP
T 

O
N

 O
RD

ER
 O

R 
W

ITH
 P

RI
O

R 
W

RI
TT

EN
 A

UT
HO

RI
ZA

TIO
N

 O
F 

A
TI.

10
31

 G
oo

dw
or

th 
Dr

ive
, A

pe
x, 

NC
 27

53
9, 

US
A

Te
l: +

1.9
19

.77
2.0

11
5  

    
Em

ail
: in

fo@
ati

-ia
.co

m
Fa

x: 
+1

.91
9.7

72
.82

59
    

  w
ww

.at
i-ia

.co
m

IS
O 

90
01

 R
eg

ist
er

ed
 C

om
pa

ny

 

Va
lv

e 
Ad

ap
te

r, 
D

ou
bl

e 
So

le
no

id
, R

c,
 Q

C
-3

10
 w

/ V
al

ve
 P

as
s 

Th
ru

 a
nd

 P
re

ss
ur

e 
Sw

itc
h

http://www.ati-ia.com/

	C. Valve Adapter 
	Valve Adapters with Double Solenoid, Valve Signal Pass Through, and Pressure Switch
	1.	Product Overview
	2.	Installation
	2.1	Valve Adapter Installation for QC-113, QC-210, QC-213, GL6L, GL7L
	2.2	Valve Adapter Removal for QC-113, QC-210, QC-213, GL6L, GL7L0
	2.3	Valve Adapter Installation for QC-310, QC-313, QC-510, QC-1210
	2.4	Valve Adapter Removal for QC-310, QC-313, QC-510, QC-1210
	2.5	Tool Adapter Assembly Installation
	2.6	Tool Adapter Assembly Removal
	2.7	Pneumatic Connections
	2.8	Electrical Connections

	3.	Operation
	4.	Maintenance
	5.	Troubleshooting and Service Procedures
	5.1	Troubleshooting
	5.1.1	Solenoid Valve Manual Override Procedure

	5.2	Service Procedures
	5.2.1	Exhaust Muffler Replacement
	5.2.2	Pressure Switch Replacement


	6.	Serviceable Parts
	6.1	Tool Adapter Assembly Serviceable Parts

	7.	Specifications
	8.	Drawings
	8.1	Valve Adapters for QC-210 Tool Changers 
	8.2	Valve Adapters for QC-310 Tool Changers


